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made to determine the position of points in the
e torm of a traverse. as in the diagram. The beanng
o G e of the line AB is 753%06 " 22"
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Caleulate the coordinates of points RO, and X 1o a precision of lmm
It the angle and disu
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e megsurements of point X have previeusly been determined as
VAN = ¥67207 24" and distance AX=301.605m, determine the length of the misclosure and its
DCAring.

5. The equatian of the cincle whose
contre 5 ab poant 0 is
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Phe v coondinate of point A s 20m.
and that of poart B oas 2o,
T

Find the length of the arc AB wa
mrecision of Do,
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T kerhstone 15 0.915m in length. how
1owhole kerbstones would be
needed 1t the arc AB represenis the
kerb of @ road.
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wee points (ALC) lie on the guadratic equation ax + by 4 o

v 1l
decimal places
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[t the x and v coondinates of the points are A OO0, 20000, B(-2.000.8.5307, and
CrO0.5.576), then by generating

e equations, 1Tnd the values for a, b, and ¢ to
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